BHEHEABS TORFVIOAL T —%

Calculation type ABS Digimatic Indicator

User’s Manual
No. 99MAHO037B

[T &HIC

ARPEHEHBEIR, BWEBABS TIOIFVIA 205 —FD55, Kl
., BEARO—2 %A TOHEMIIONVWTRHLEDDTY, BIENIE
BREREZANO—2 A TEHBETT O T, ID-C112RXB B4k it W
(N0.99MAH034B) 2 Z& L 7F & W,

1.U7F 49/ TOmRET

V754 2% 77 (Bl /25mm A ha—2%2 M : No.21EZA197, 50mm

A2 ba—2 M :21EZA200) MNZHIHTET T,

1. ABBOF v v T KIEEHAIZE U TROALET,

2. ABY RIVAESRNESIC, Tz AREENMLTT IV THIEL.
U754 >0 ) TEAEY RV DAL (M2.5) IO FHF £,
ZOK, AEY RIWZ EIZEL EIFTEan,

B3UITFALT ) TOFYy TEELT, Ty o bikicEELET,

£E

cRUALEFY v TR LABVE D ITREL TS ES W,
CUITTFAT)TOF Yy TEERELEWVKETHERT &, NEEHM
PHEMEEBEIELIBNIHYET,
CUTTAVT/TERYMSITANMEER. BTRMUALEFY v T &
BRUFFFTZE0, ABBRCUNENEEBETIENDSBYET,
cROAURH, SRAMDHBSEATHEALLEZONTSESN. FBIFRY
HENSECIBNDGHY ET,

Foreword :

This user's manual explains the calculation type ABS Digimatic indicator,
with Special emphasis on the middle and long stroke type. The operating
procedures are the same as those of the short stroke type. For general
information, refer to the ID-C112RXB user's manual (No. 99MAHO034B).

1. Mounting Lifting Knob

A liting knob (optional/ Parts No. 21EZA197 (for 25mm stroke), 21EZA200

(for 50mm stroke)) is available.

1. Rotate the cap counterclockwise to remove it from the instrument.

2. Hold the spindle with pliers while protecting it with a rag to prevent
rotation, fix the lifting knob to the top of the spindle (M2.5). When fixing
the lifting knob, lift the spindle so that the top can be easily seen.

3. Rotate the cap of the lifting knob to fix it to the top of the bush.

IMPORTANT

e Store the removed cap, taking care to prevent loss.

e Using this instrument with the cap of the lifting knob loose may damage
the internal parts.

¢ When the lifting knob is not mounted, be sure to attach the cap to the top
of the bush. Failure to do so may damage the internal parts or workpiece.

* Do not use the instrument in an environment with dust, oil or mist. Doing
so may cause the instrument to malfunction.

2. Y —XDRBfFF
LU—X (BI5¢ /75— No.540774) NTFATEITET .
1. LY —=ZBMFROTILF vy v TERONLUET,
2. LY —XEROBETL>NORWODMFIFET,

=
c BRUALZETAF vy T IIIBERLAVL D ICREL TS LEEL,

c TAF vy TERAFBECE. RCATLS ICRYMITETS.

« LU —XEBRFIFRWMEER. T TAF:v v TE2RFITTIZE,
LY=L OMEELAAEY., BRICADDLH, D EBET ZEBNH
HYUET,

s VU —XDPBAEKETRAEY RILELTEES L. AEBHRERES
HEEBENDBHYETS,

2. Mounting Lifting Release
A release (optional/Parts No.540774) is available.
1. Remove the rubber cap from the release mounting hole.
2. Insert the release as far as possible into the hole.

IMPORTANT

e Store the removed rubber cap, taking care to prevent loss.

e When attaching the rubber cap, screw it into the hole.

e When the release is not mounted, be sure to keep the cap inserted.

¢ |nserting any object other than the release or applying an excess force to
the hole may cause instrument malfunction.

* Moving the spindle up or down while the release is loose may damage the
internal parts.

=y S
Rubber Cap

Ly—-x
Release

Mitutoyo

VITFav0)7
Lifting knob

Mitutoyo Corporation
Kawasaki, Japan
http://www.mitutoyo.co.jp



3. {t# Specifications

User’s Manual
No. 99MAHO037B

(iREl ID-C125RXB ID-C125RMXB ID-C125REXB ID-C150RXB ID-C150RMXB ID-C150RWXB Model name *1

d—K " 543-590B 543-591B 543-592B 543-595B 543-596B 543-597B Order No. *1

/N R 2 0.001mm 0.001mm / .00005” 0.001 mm 0.001 mm /.00005” Resolution *2

pillyeg i) 25.4mm 25.4mm/1” 50.8 mm 50.8 mm /2" Measuring range

JRHRIPHAT ZRSE *3 0.003mm AR Within 0.003mm/+.0001” 0.006mm BAF Within 0.006mm/+.00025” Overall *3

RO e 3 0.002mm LA F Within 0.002mm/.0001” 0.002mm LR Within 0.002mm/.0001” Hysteresis *3

HRX UK "3 0.002mm LA F Within 0.002mm/.0001” 0.002mm LA F Within 0.002mm/.0001” Repeatability *3

AT LR $8mm 3/8"DIA $8mm 3/8"DIA Stem diameter

WET ftnd Carbide Carbide e Carbide Carbide Contact point
(M2.5x0.45) (M2.5x0.45) (No.4-48UNF) (M2.5x0.45) (M2.5x0.45) (No.4-48UNF)

EH 1.8NLAF <1.8N | 2.3NLLF <2.3N | Measuring force

PE S50 A 2 B)VKFS 1 E THA ] Below the horizon | Measuring direction

PRAEE 4 IP42 1% (AL, THHHMIRRRIEICHE S ) Equivalent to IP42 (in factory shipment state) | Protection level *4

B U F o A&EEM CR2032 1 fi# Lithium metal battery (CR2032) 1pc. | Power supply

Wb 5 P ESRES 1 year under normal use | Battery life *5

PR WEARKLY 7V Ya—-—by=yra—% Electrostatic capacitance absolute encoder | Scale

B e B Infinite | Response speed

YT U6 |EHEE—R E—=JRIEFE—R Normal mode, Peak detection mode | Measurement
(FdEY > 7Y > 27 E— R OFF Kf) @10 [[] /sec (Fast measurement frequency enabled): 10 times/sec | frequency *6
E—7KRIE—F Peak detection mode
(&Y > 7Y 27— K ONK) : 50 [H] /sec (Fast measurement frequency disabled): 50 times/sec

G ATVA L ENG1326-1 Electromagnetic
(Immunity test requirements: Clause 6.2 Table 2 / Emission limit: Class B) compatibility

il EE PR MR © 0°C~ 40°C Operating: 0to 40°C | Temperature
PRAFIREERDE : -10C~ 60°C storage: -10 to 60°C | range

o :
¥
31

4
*5

6

AT TFI T TIYDHRERDET,

REIC L OYHRAMNARETT ., [3.3.2RES: /MR &2 I8 a3,
20°C, mEHER, BmAHLRE(F1 ATV ) 2EHREREA.

RO, SRS A=1,B=0,C=0, f/INFEIRE 0.001mm FEDHETT.
NZZEERIIC L > TEDV X T,

PRIEE (IP-International Protection) #&/Rk1Z IEC 60529 / JIS C 0920 IZH D& X7,
BibFamd, BAHBERENHICEO R0 ET, ERBIEIHZE L TEEALE
0,

ZEY RIVOBEEENU FOMEEZBAS L, ELWE—ZBREBfTbanwEa
MHOVET,

WHE—R, E=ZKRHE—R (&> TSY > ZE— R OFF ) : 10pm/sec
E—ZRIE—F &Y 7Y 27 E— KON : 50um/sec

RS

4. <ti% Dimensions

57.7
227"

33

123"

i
432

FBRElER 330°

‘D|splay rotate
r————————\\

\\7 N3
- || 2l
s - Q
'\.|i\
N
ol
1< [2)]
™ #952 803 £|:‘%’
3 3/8" DIA |T|m
88 B
wn| ¢ N| &
g == clg
&
=) m & ‘“|To
ol N (e ~
i N oY 2
9 N S B
m)
N

: All instruments in this series are of the flat-back type.
. Changeable by way of setting. Refer to “3.3.2 RES : Resolution”.
: 20°C, normal measurement, the quantizing error (+1 count) is not included.

The values are calculated with coefficients; A=1, B=0, C=0, and the resolution set to
0.001mm. They are subject to change depending on the coefficient settings.

: The protection level (IP: International Protection) is indicated according to IEC 60529 and

JIS C 0920 standards.

. Battery life depends on use of the indicator. Use the above value as a guide.
. If the spindle speed exceeds following, the correct peak value may not be displayed.

Normal mode, Peak detection mode (Fast measurement frequency enabled):10pm/sec
Peak detection mode (Fast measurement frequency disabled):50um/sec

,192 N3 M
76 123" 43
i .
®|m FREPEER 330
|
Q
I.II'N Q
o 0
9| o N
E iy
3/8" DIA
T |
i IR
| g
iy 1! gl i
2 I el g
B
m|
[
| 1

Mitutoyo



